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What _does _Lilydoin_her free timg

She _goes  jogging-

What __does Jenny do in __her
N free time?
& She _rides a bike . ’

What _do  Andy and Sam __do__i
their free time?

| _They play basketball.

| What_does Jack do in
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[ He—plays foothq .
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T: Hello everyone. Now, please take out your book,
and go to page 42.

T: There are four pictures, and I will tell a story
about these pictures. Then, you write down
numbers in order.

T: Listen carefully.

I am Jessie, I always ride a bike to school.

Emily is my friend. She likes to going jogging on
PE class.

Jason is my brother. He plays football with his
partner after class.

Also, my classmates play basketball in their free
time.

T: Now, please write down the numbers in order.

Part 1

T: Look at the table, there are eight pictures.

T: Let’s do pair work. Please ask your partner”
What do you do in your free time?”, and check by
your table.

T: Now, let’s have an example. Andy is my partner,
so he will ask me a question.

Andy: What do you do in your free time?

T: I listen to music and ride a bike.

T: So, Andy will record it. ( & i 3R Bl % * 7 # )
Part 2

T: Okay, Please say thank you and good bye to




your partner.

S: Thank you! Good bye!

T: Now, the right one is going to group A, and the
left one is group B.

Please introduce your partner in new group.

For example, My partner is Andy. He likes to surf

the Internet in his free time.
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